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Choose a word to complete each sentence 

more                less 

 

5 tens is ______ than 2 tens and 9 ones. 

7 tens is ______ than 1 ten and 11 ones.  

9 tens is ______ than 5 tens and 18 ones. 

4 tens is ______ than 2 tens and 6 ones.  

8 tens is ______ than 3 tens and 12 ones.  

9 tens is ______ than 7 tens and 2 ones.  

6 tens is ______ than 6 tens and 3 ones.  

3 tens is ______ than 1 ten and 21 ones. 

9 tens is ______ than 7 tens and 8 ones.  

3 tens is ______ than 5 tens and 13 ones.  

8 tens is ______ than 3 tens and 24 ones.  

2 tens is ______ than 6 tens and 1 one. 

2 tens is ______ than 1 ten and 13 ones. 

5 tens is ______ than 4 tens and 15 ones.  

1 ten is _______ than 1 ten and 5 ones.  

10 tens is ______ than 8 tens and 5 ones.  

9 tens is ______ than 7 tens and 17 ones.  

7 tens is ______ than 5 tens and 18 ones. 

5 tens is ______ than 7 tens and 16 ones. 



Name:                                                                                                   Date:  

Copyright © 2022 

Answers:  

5 tens is more than 2 tens and 9 ones. 

7 tens is more than 1 ten and 11 ones.  

9 tens is more than 5 tens and 18 ones. 

4 tens is more than 2 tens and 6 ones.  

2 tens is less than 3 tens and 12 ones.  

9 tens is more than 7 tens and 2 ones.  

6 tens is less than 6 tens and 3 ones.  

3 tens is less than 1 ten and 21 ones. 

9 tens is more than 7 tens and 8 ones.  

3 tens is less than 5 tens and 13 ones.  

8 tens is more than 3 tens and 24 ones.  

2 tens is less than 1 tens and 11 one. 

2 tens is less than 1 ten and 13 ones. 

5 tens is less than 4 tens and 15 ones.  

1 ten is less than 1 ten and 5 ones.  

10 tens is more than 8 tens and 5 ones.  

9 tens is more than 7 tens and 17 ones.  

7 tens is more than 5 tens and 18 ones. 

5 tens is less than 7 tens and 16 ones. 

 


